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sin’x + cos’x
» . 1
(2)a+b= smx+cosx,7 s
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(by,by) = (t,88) = (2th, +26b,) « (b,,b,) =
((1=2b3)t =2b,b,6>, =2b, byt + (1 =203)1).

cal g E W C L,

Sl = 2bbyt + (1 =203)F4 ] = (1 -2b]) 1 -
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Zl5@TbEL.

(@A) (1) f(x) =m -

.o x
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.. 2sinAcosB — sinCcosB = sinBcosC,

.. 2sinAcosB =sin(B + C) =sinA,
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%casinB, B S = % a’ b’ sindsinBsinC =
—2b” H1l<sS<2 4% 1$La V<2, B 8<

64 64
abe<16 V2 At C.D R—Z R Lb+c>
a>0, B bc(b+c) >bc - a=8,B7 be(b+c) >8,
BHRA —FRE Xa+b>c>0, Btk ab(a+b) >
ab + c=8 B ab(a+b) >8, LR NEIFH ab(a +
b) >16 2,9 B R— R M . 45 LAk ik A

D [#@AT]dA&E, £ AABC ﬂf’,sinLACB:ﬁ%:
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3 3 2 2
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FATFFAIMNI, = R
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£ RtABDA 5 Rt AACB ¥ ,AB = BA,AC =BD,
M RtABDAL RtAACB, F 5% / DAB = / CBA.
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